2006 4= HUR 3L

AB=x, DA=y L35 & x+y=44-26=18 —D
— A BCDIZ U -AKTHY, LCBD=/CDB=0Lt 35 ¢&

EREH LY _1—3=2-6—5 .-.sin¢9=13-i=ﬂ .-.cosez§
sin @ 8 65 5 5

Zh kv .'.BD:2-130050:26-§:%8

HEMAOEMR LY, LCAB=,/CAD=0 TH 52> /BAD=20

coszezcosze—sinzezﬂ:_l
25 25
= A ABDIZBET D REEPL LV
78? 14 36
BD? =— =x? + y2 —2xyc0s20 = (X + y)? —2xy + — xy =182 — >—x
25 y y (X+y) Y+ e

36xy=18%-5% —78% =(90+78)(90—78)=168-12 .. xy=56 —@

DQL@LXV, x yliT kHFEKXL2-18t+56=00D 2 TH Y |
t-4)t-14=0 . .t=4,14

L7=23>T AB=4, DA=14%7-1% AB=14, DA=4 ------ (%)



